BOAT & STREA|v| 2

{2

MATHS = @usoonis TRt




©)

T —

Q1- If downstream speed is 8(1/3)% more than upstream speed then speed of boat
in still water is what percent more than speed of stream?
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Q2- A boat covers 32 km in 40 min going in the direction of stream.|f
the speed of the stream is 10kmph,,find the speed of the boat ?
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QB speed of the boat in still water is 12kmph .Boat can cover ZOkmph in
2.5 hrs in upstream. In how much time boat will cover 40 km going in

downstream ?
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Q4— A boat can cover 49 km in 3.5 hr in downstream , while going

upstream cover in 4hrs5min, find the speed of the boat
respectively

and the stream
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QS Time taken by boat going in downstream is half of the time taken by
boat in upstream .If the speed of the boat is 9kmph then find the speed

of the stream 2
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Q6 A boat can covers 24 km in upstream and 36 km in downstream i
6hr .It covers 36 km upstream and 24 km downstream in 6.5 hr. Find the

speed of the_stream ?
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Q7- A man can row at a speed of 4.5 kmph in still water to a certain
upstream point and back to the starting point in a river which flows at
1.5 kmph .Find his average speed of total journey?
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Q8- A boat can cover 9.6 km in downstream in 36 min .If speed of water
is 10% of the speed of boat in downstream .How much time will boat
take to travel 19.2 km upstream? . R
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Q9-Speed of a boat is 25 km per hour in still water and the speed o
the stream is 5 km per hour. If the boat takes 15 hrs to go to a place

and come back, the distance of th_lzﬁ)lace |s7
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Q10-The speed of a boat along the stream is 8 km/h and against the stream is 6 km/hr.
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Q11- A boat goes 14 km upstream in 42 minutes. The speed of stream
is 4 km/h. The speed of boat in still water is?
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(a) 24 km/h
(b) 25 km/h
(c) 30 km/h
(d) None of these




Q12-Speed of man is 12 km/h in still water. If the rate of currentis 4
km/h, then th effective speed of the man in ypstream is?
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(a) 6 km/h
(b) 7 km/h
(c) 5 km/h
(d) None of these




to his original place in 5 hours. If the speed of the boat in still water and the
stream are 10 km/hr and 4 km/hr respectively, the distance of the destination

from the starting place is:
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(a) 16 km
(b) 18 km
(c) 21 km
(d) 25 km
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A man swims downstream distance of 15 km in 1 hour. If the speed of the
current is 5 km/hr, the time taken by the man to swim the same distance
upstream is:
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(a) 1 hr 30 min
(b) 45 min

(c) 2 hr 30 min
(d) 3 hrs




A boat goes 12 km downstream and comes back to the starting point in 3
hours. If the speed of the current is 3 km/hr, then the speed (in km/hr) of

the boat in still water is :
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(a) 12 km/h
(b) 9 km/h
(c) 8 km/h
(4) 6 km/h




It goes 12km upstream and 14 km downstream in 3 hours. What is the speed

of the boat in still water?
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(a) 6

(b) 4
(c) 10
(d) 14




A boat goes 2 km upstream and 3 km downstream in 20 minutes. It goes 7 km
upstream and 2 km downstream in 53 minutes. what is speed (in km/h) of the

boat in still water?
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